A

(2021-2023 ¢ 2018-2020 F¥EN S 438 kDo A iz
BIOLOGY (V) - 022 . Al
Q. Paper : | (Objective Type) PAPER CODE = 5461 CAS» )T
Time Allowed : 15 Minutes (73/15»;) L 150 =
Maximum Marks : 12 12 U/’.‘uK

?«f;?.:./»c.ufu;}i:zé..:&.bd: Jivr . Lébl (_.SLP.' -uzéé_.)[) sMCBA a@i!?;»@?lad:d'r/: e
,{ﬁgr‘.}bfw’__afﬂuﬁuf:«ﬂ"u{d‘_/é yo's L d'.-/‘zfu:}f:a)_[!);ﬂ_«g _&:%L@LJZL;G,?I:M&WL
Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Scientific name of mustard plant is : re b e ¥ &y L Urr|1-1
Brassica campestris U ++'& g1z (B) Allium cepa L (A)
Homo sapiens iy (D) Pisum sativum (s&i’ d &@_ (C)
Word biology is derived from language : Y e YU aeae Bl 9|2
Greek 3ty (D)  English$z4 (C)  French y*1j (B)  Latin (21 (A)
AF A King listed observations : A ROS YL N M GO /P £
40 (D) 30 (C) 20 (B) 10 (A)
Term of " Procariotique " used by : : u‘;’ S Jer peer § _Qg,;‘j{ |4
Margulis UYL (B) Ernst Hackle Koo (A)
E-Chatton ¢**.(§! (D) Carlous Linnaeus L,Hu’ﬁ'u’ (C)
Glycolysis occurs in -=-----: L B B e & Jf § /’u,!?’w’ 5
Mitochondria L.2/7(L (B) Nucleus u’b; (A)
Cytoplasm k¥l (D) Ribosomes 7#¥1, (C)
Ribosomes are constructed in ----- : R0, Y A Y2
Nucleoid 82 (B) Endoplasmic reticulum f;@; Atk k) (A)
Nuclear pore ¢ /:,Kx (D) - Nucleolus qu.K;: (C)
Which one of cells do not enter into GO phase : P J Jé!; U~ 8 GO 4 wf |7
Liver cells /'l»'o’{‘:?. (B) Neurons S (A)
Epithelial cells AU (D) Kidney cells £« s/ (C)
Each bivalent has chromatids : b O o S A _w&s(j@ 718
8 (D) 4 (C) 3 (B) 2 (A)
Lock and key model was proposed by : : L_/f L};‘- B | d/,iz;!..fu g
E-Chatton (! (B) Robert Brown wilce sl (A)
Schwartz  # (D) Emil Fisher }’%f (C)
From which bend of ATP molecule energy is taken : fe C‘g (Sartiad uf L ATP|10
C-Obond/4L C-0 (D) C-Nbond/%l C-N (C) C-Hbond/iL C-H (B) P-Pbond/2L P-P (A)
Which disease is not caused by vitamin A deficiency : (:5:: u.‘.f’ e J/ d/ ! e uf 11
Dry skin 45 (D)  Scurvy d}f’ (C)  Blindness ¢[ls! (B) Poor growthm’}/?, (A)
Jejunum is long ----- : o J)f uJ e gz l12
A 2.4m (D) 2.5 m () 2.7 m (B) < 2.8m (A)
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10 2. Write short answers to any Five (5) questions: :@ = /‘“'? L =y (5) ég & tjf -t
(i) Define biogeography. P8 e )
(ii) Define macromolecule. Give two examples. 2 u“JU‘? » -"é _ﬁfﬁ J dg;-—ol. y% (i)
(iii) Name vegetative and reproductive organs of mustard plant._&grtéﬁf%sg,;::ligzz.a.)gccur/ (iii)
(iv) How hypothesis is made? e bl b J@. df M@Jf{. (iv)
(v) How does a theory become a law? e J' d: ¢l djx."? -.Q (v)
(vi) Write four observations about malaria. & O Ll 4 - - L LA‘ (vi)
(vii) Differentiate between diffusion and facilitated diffusion. -5 b OF U Wil e sl iR (vii)
(viil) Write functions of centrioles. & Juit £ )gf/b:.’ (viii)
10 3. Write short answers to any Five (5) questions: ey Ly B) e 3
(i) Define taxa and taxonomic hierarchy. -é ....s,l/‘.” J e & u';'l/..g o LE (i)

(i) Why some biologists disagreed about the "u‘.'."/u::,(&’;c.. BT SLETI 119 d’l&rﬁj& E’upﬁflm{ (i)

position of fungi in kingdom plantae?

(iii) What are blebs and apoptotic bodies? J e VP ..6’;!.?4! 29 el (i)
(iv) What are changes take place during anaphase 1? Ut U uy;g g df s L l/i":;' (iv)
(V) How cytokinesis take place in plants during mitosis? ‘< (:bc d: A7 :’bJLu.‘.' Uy (V)
(vi) Differentiate between somatic cells and germ line cells.-g‘_'.:( .(f” J/’ o /137 cfﬂ (7~ 2 )-/ u@'“f (vi)

(vil) State how the varying S Grilit St S a3 S TS K LA TEE e (Vi)
carbon dioxide concentration affect the rate of photosynthesis? X
(viii) How lactic acid fermentation take place in skeletal muscles? ?q.dnb)u/ﬂﬁl.@wyﬁc (viii)
10 4. Write short answers to any Five (5) questions: a8 OF 4 AL ey (5) é,g & J:( -4
(i) What is the main use of enzymes in paper industry? e Je l,_f § j-fl;?i AT g J i€ (i)

(ii) Define cofactors and coenzymes. .,é ...5{/." J j’ff;’i;( sl .r/-”'gf (ii)
(iii) What is mechanism of enzyme action? Give its equation._é;fo‘f:. UL/JJJ i‘.;..y/(;? @Kf‘gljjfﬁr (iii)
(iv) What is goitre? How does it cause? = st vy d: s = l{ /*""f (iv)
(v) Differentiate between insoluble dietary -ég;fg})uf};’ﬁ SHI Sk il 5426 SK 15 Syl (v)

fibres and soluble dietary fibres.

T s £ i, g
(vi) Write down the symptoms of dengue fever. -e‘_{ 7/ el O U g5 (Vi)
(vii) What are agranulocytes? Give their types. _.“é ;f [’Lﬁl d/ CLRY 1 L..;’/ u"LA’:?.)/a_F (vii)
(viil) What is pericardium? How does it important? fe (1 UY'.-/ - e g( ﬂb{ Sz (vii)
( PART -1II (9 )
Note : Attempt any TWO questions. o IO 4 ey ne Jf O
i . I - "
2,2 5. (a) Wirite note on organelle and tissue level. & &9 £ Ji & uf)fl () _5
1,1,9:1,1 (b) Define plastids and explain its types &= & e LSS Ut Al ()
1 1 with diagram. ‘i : - . . -
I, 1=,1= 6. (a) Who proposed five kingdom _“é;ou,d/dg’rzﬁi,rw{rﬂ; ?l.{'l,_f,-?z_.u/(‘?ﬁég () -6
22 system? Explain kingdom protista and fungi.
1404, (b) Differentiate between aerobic and -g‘f:’ 27 I B, Lot sl Lap (L)
anaerobic respiration. o
4 7. (a) Write the functions of oral cavity in digestion. ..r’iU, 7 Jui! 2 u:,-ﬁ/ -J»J o u’_{" Catll) <7
i o - :' I/ . i3
1,4 (b) Explain the percentage composition of blood ,.Z.,{'f.-ugxs!gc__ WJ/C’:;Q Ltk it ()

plasma and draw diagram.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

In which season Houbara Bustard migrates to Pakistan : :;;bfut’fgifaﬁu!(fﬂ}% o x| 1-1
Spring /¢¥ (D) Autumn U7y (C) summer (/% (B) Winter L% (A)

Leaf surface covered by stomata is : Lkt 2 K 5/ g - 2
#410-20% (D) 2 8-9% (C) i 4-5% (B) w3 1-2% (A)

During which phase of meiosis crossing over takes place in : : .f_an& AIE TN s |3
Telophase | /I/f;J:'.t (D) Anaphase | /I/'.':’t;,l (©) Metaphase | /l/'éB: (B) Prophase | /I/'.é){ (A)

The amount of hydrogen in the protoplasm of living organism is : .:;.Aﬁf’Jcﬁug‘Lgﬁlﬁf};;p.;ﬁuyut? 4
44 3% (D) 44 10 % (C) L 18% (B) 44 65% (A)
In which phase cell prepare protein : uj‘d»}’"&:ﬁ é_kaﬁGJk;{J)JGJ/;JL;?q_ V);”U'c,ff}{a:():d-:ﬁ/'gf{ 5

that are essential for mitosis, mainly for the production of spindle fibre :
GO phase 2 05 (D) S phase 24 (C) G2 phase 2 25 (B) G1 phase 2 14 (A)

In most plants food is transported in the form of : P Jrz .*.«».*_,Ji/’ J SO, ol v Uy 6
Protein L-ffsg (D) Starch . (C) Sucrose J:/C’ (B) Glucose Jf:g (A)

The cause of malaria is : _ A d/ ,i,,é 7

Amoeba lz! (D)  Plasmodium 31 (C) Virus U7 (B) Bacteria | <& (A)

The major component of plant cell wall is : i e c,f)/ 27 1y K U J/ Uy 8

Cholesterol Js*¥/ (D) Celiulose s (C) Peptidoglycan w-%::;.‘, (B) Chitin &*¢ (A)

Which one of the following have no cell wall : : Jt_p J‘L_ JE ik S Fimr]®
Fungi 0¢ (D)  Bacteria | 2% (C) Animals 9 (B) Plants < (A)
The deficiency of vitamin C is cause of : 5 sl § § 6|10
Rickets U~ (D) Scurvy $o& (C) Dry skin 45 (B) Blindness ¢fbs! (A)
The example of colonial organization is P Je $ Srnr JE (1

Volvox u’g,»’f: (D) Euglena Q,«@_’ (C) Paramecium [4"‘“!/:5 (B) Amoeba ! (A)

H

Lipase enzyme act only on : Ve e J" o f’l)’:l ,?;?JU 12
Nucleic acid M!_@b/x: (D) Lipids J4) (C)  Proteins /-‘.6{ (B) Carbohydrates JLEHJK (A)
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10 2. Write short answers to any Five (5) questions: :ﬂ AT /;,»; L ey (5) é‘l; =, Jf -l

(i) Differentiate between vegetative and -é@&:ﬁ/‘uf U }U/ﬁ{d; 28 giiimay £¢.:{£ur/ (1)
reproductive parts of mustard plant.
(i) Name the two types of tissues in stomach. -é b 38 4 s b & e e (i)

(iii) Distinguish between colonial and multiceilular level _éfﬁw/u' JJ/JI /:L“u’L ) J"*'}J:’/ iii)

of organization.

(iv) Why experiments are performed? for b c“f uxr al_,ﬁ (iv)
(v) Define biological probiem. -é ...aJ/." J (L’/ :’)"L (v)
(vi) What is a productive theory? *’z'_ dr U/ dﬂ‘? v IJL ..Ll {(vi)
(vii) What is difference between phagocytosis and pinocytosis? "4..0/er J'/ rert»lJ/ rb—yﬁ (vii)
(viii) Define plasmolysis. -é ._.v/" J /U:*‘;LL (viii)
10 3. Write short answers to any Five (5) questions: :45 AR /" £ = Uiy (5) ét & J:( -3
(i) Write the scientific name of onion and house crow. a.c‘.r /f ¢t u"’Lr g :../(b sk (i)
(i) Define endangered species and give an example. -Z.:dl/ ..ﬁ 2! é ....z!/" d/ /Lﬁ- :/ seit (i)
(iii) Define cell cycie. i -2’: _.d/’ J u.. F (iii)
(iv) Why mitosis does not occur in prokaryotes? "dr’ f u:”/ u/ﬂdh ok qu’/(s/ (iv)
(v) How cytokinesis occur in animal cells? $&. d;’ d/ /"K Lo~ e I u»:’Lg (v}
(vi) Draw the labelled diagram of crossing over. wed rl/;tl A J JJJI\—-ﬁ']/" (vi)
(vii) Define bioenergetics. = .3 ....d/" J\_,w.(.;.u/b’L (vii)

(viil) How lactic acid fermentation take place in skeletal muscles? ‘< ch)u{yﬁ"}m.egw)’w (viii)
10 4. Write short answers to any Five (5) questions: :£ 1Y 4 /‘"? L ey (5) é}r - Jf

(i) What are the benefits of biocatalysts? o A19 Lf Fik u’u WL (i)
(i) Write name of four enzymes. ﬂé /f (t L /l/'i /b (i)
(i) Write two characteristics of enzymes. _é // ...A:r‘" » L,( /f/l (iii)
(iv) What are the health risks if St # Tl ,J:?Lfiju*cimuwuw ;;Z’u"_ﬁ;fd f(/ (iv)
we take more saturated fatty acids in our diet?
(V) What is diarrhoea? What are its symptoms? ur l/ .....«Lik d/ JI I« Lf L3 ()
(vi) What is leukemia? Write its causes. _é ff d/ V! "{._ U/ L-/y (vi)
(vii) What are root hairs? Write their role. -é /f ;L*)/ K "U; L J/:?;-/}J (vii)
(viii) What are the symptoms of dengue fever? st U e § x5 (i)
( PART-1I (s )
Note : Attempt any TWO questions. a7 =R L ety 9 ::.. Jf ST |
22 5. (a) Describe organelle and cell level, -é o>l J/ erJ’ pIl of”/i () .5
1.2.2 (b) What are compound tissues? Explain its types. -&_ vk rL—’! d/ R4 L-'/ pr] MLI (w)
4 6. (a) Explain taxonomic hierarchy. ~£ Uk J"'y g e L d:’lzc () -6
23 (b) Explain the role of chlorophyll _é&uv: J ML Lﬁ/ 2! J{WK VA Iz ()

and light in photosynthesis.

1,2,1 7. (a) Define dietary fibres. ué‘ eolos § 419 L S -"éd ;..g;/". S A6 SH (D) T
Explain its types and their benefits.

2,12 (b) Describe pressure flow mechanism in detail. ,é: b = J:.“y s (/K_f }l’ﬂ{ (o)
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